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11.5 let qu be an enumeration of all rationals in the interval to I
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Q what is limsup

whatisthe difference btw limsup and sup
What is most counterintuitive abt limsup

Canyoustate some sentences that seemstobe correct butis actually wrong

limsup isthe tailofthesup i the largest possible limitafter a large numberN
whereas

sup is theleastupperbound sup canalso view as themax
Thething abt timsup that's most counterintuitive is that sup always
greater or equal to limsup

Sometimes even though a sequence Su does not

alwaysconverge limsup always exists or equals is

ex Sn 7 2 8 5 6 i I 0 1 0 1 0

thisseg doesnt converge butwehave sup 8 andlimsup 1


